Taxes, Welfare and Work

The highest tax rates in the United States today are
not imposed on the wealthy. They are imposed on the
poor.

When people on welfare earn income, they face two
types of penalties. Not only do they have to pay taxes on
their earnings, but they have their welfare benefits
reduced as well. This reduction in benefits is a de facto
tax, because it re-
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Thus a woman earning $8,000 per year in wages is just
$2,408 better off than a woman who does not work at all.
This is equivalent to an effective average tax rate of 70
percent on her total earnings.

High marginal tax rates are inherent in means-tested
welfare programs. The more quickly benefits are phased
out, the higher the tax rate. Reducing benefits gradually
makes the tax rate lower but is expensive since it raises
the level of earnings one can have and still receive
benefits.
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illustrates the prob-

lem. A single mother with two children living in
Pennsylvania receives $7,548 in benefits if she has no
earnings. If she earns $2,000, the combination of taxes
and lower benefits raises her disposable income by just
$1,375. This is equivalent to a tax rate of 31.25 percent
on the earnings.

Onthe portion of earnings between $5,000 and $8,000
per year, the marginal tax rate rises to well over 80
percent. In other words, out of each additional dollar she
earns her disposable income rises by less than 20 cents.

which represents a
direct budgetary outlay in the form of refunds, with the
remaining cost to government coming in reduced rev-
enue. In many states, more than a quarter of all families
receive the EITC, according to the Treasury Department.

Congressional Republicans have proposed modest
cuts in the EITC of between $10 billion and $19 billion
over seven years. Their efforts are being strongly re-
sisted by the Clinton administration, which sharply in-
creased the EITC in 1993 in order to help the working
poor.

Dallas Headquarters: 12655 N. Central Expy., Suite 720 « Dallas, TX 75243-1739 » 214-386-6272 » Fax: 214-386-0924
Washington Office: 727 15th St. N.W., 5th Floor » Washington, DC 20005 » 202-628-6671 » Fax 202-628-6474

For more information: Glenn Mitchell or Windi Fuller 214/386-6272




In fact, the benefit to working poor families is far less
than it appears. The EITC is phased out at a 20.22
percent rate when a family’s earned income reaches
$11,000, with the credit completely eliminated when its
income reaches $26,000. Thus families in the phase-out
range face an extra marginal tax rate of more than 20
percent.

Browning also found that a significant percentage of
EITC benefits go to families well above the poverty
level. Indeed, according to the House Ways and Means
Committee, by 1996, almost one-third of EITC benefits
will go to families with incomes over $20,000 per year.

Other studies have also found that the EITC’s disin-
centive effects outweigh its benefits to the working poor.
For example, Professors
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prise Institute points out
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severe “marriage pen-
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worker. Therefore, if
both husband and wife
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ceive it the credit is a
disincentive to work. Due to the EITC, many families
reduce rather than increase their work effort.

The EITC does lift some families out of poverty. But
it does not help all those who receive it. Many would be
better off without it. Professor Edgar Browning of Texas
A&M University, in an article in the March issue of the
National Tax Journal, calculated the effects on family
income of the EITC, taking account of the reduced work
effort of those in the phase-out range. He discovered that
nearly half of all families receiving the EITC actually
had less total money income than they would have had
without the credit because they worked less. Overall,
Browning estimated that each $1 of EITC the federal
government spends increases the net income of the
working poor by just 46 cents.

work and they have more
than two children, they have a powerful financial incen-
tive to get divorced. The reward can be as much as 25
percent of the couple’s combined income, according to
Kosters.

Solving the Problem. There are just three ways to
remove the tax rate effects of means testing. The first is
to remove the means test and pay benefits to everyone,
regardless of income. The second is to abolish welfare
altogether. Neither of these seems feasible at this time;
the first is too costly and the second too harsh.

The third approach is the one now being pursued in
Congress: require work of those who receive welfare. If
welfare recipients are forced to work, then the loss of
benefits no longer poses a disincentive.

This Brief Analysis was prepared by NCPA Senior
Fellow Bruce Bartlett,
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